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% . Final Term Exam
Faculty of Commerce The Level : The Third Year
Economic Department English Language Section
The Course : Public Finance
Time : 2 Hours

The Date _ : 6/6/2013

Answer the Following Question:

QI1: Explain Why the Following Statements are True or False: :( Four Marks).
1- In effect, inflation is a form of taxation.

2- Assume there is no externality the inefficiency from the subsidy equals the area of a
triangle to the right of the intersection of the original D and S curves.

3- Public Finance is the field of economics that studies private activities and their
economic basis as well as the alternative means of financing private expenditures.

4- If MSB is equal to MSC, then we fail to reach economic efficiency.
Q2: ( Six Marks)
A- If a subsidy is given to producers or consumers, it will produce the same effect.
Explain using a diagram?
C- Why many individuals believe that progressive taxes are "fairer" than others?

D- What do we mean by The Tax Base, and Taxes on Economic Bases can be
general or selective?

E- At a regressive tax price, the MTR curve is below the ATR curve, But at a
progressive tax price the MTR curve is above the ATR curve. Explain using a
diagram?

Q3: (Six Marks)

A- What we mean by Debt Finance, Donations, User charges?

B- If a public project that costs $100,000 in year 0 generates a benefit of
$55,000 in year 1 and a benefit of $60,500 in year 2, should it be built?
Explain why the answer depends on a particular number, and why
economists might disagree about the project depending on the number they
choose.

Best wishes, A

Prof. Ali Sarif
Dr. Ahlam Morsy
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e Faculty of Commerce.

e Business Administration Dept.

e 3" Year Students, English Section.
e 2™ Term — Final Exam. 2016

e Date: 1/6/ 2016.

e Time: 2 Hours

Course: Negotiation Management
A.Prof.Dr. Amgad Hamed Omara

Answer the following questions:

Question: (1)

"Problems, complexities and crises are mainly representing the issues around which

process is hub-revolving in all the life affairs, particularly those related to political, economic,

aspects”

(7.5 Marks)

the negotiation
and social

Show to what extent you can understand this dictum via highlighting the following items:

.
.
.
Question: (2)

Discuss in detail just one of the following subjects:

e The four stages of negotiation process?
e The Ethics, fairness, and trust in negotiation?

Concept and characteristics concerning every single type of these problematic issues?
Practical examples to show the negotiator's capability to distinguish and diagnose each
Different methods to use when resolving problems, treating complexities or even facing

type ?
crises ?

(7.5 Marks)

Best wishes




Menofiya University Final Exam.

Faculty of Commerce 3" Year
The English Section Time: 2 Hours
Course: Applied Statistics Date: 15/6/%016

Answer the following questions:
First question: (5 marks)

1- The following sample observations were randomly selected:
X 2 3 1 5 9
s 7 3 9 1]

a) Determine the coefficient of correlation.

b) Determine the regression equation.

¢) Determine the standard error of estimate.

2- Refer to the following information:

Predictor Coefficient St. dev.
Constant -150 40
X, 2000 500
X, -25 30
X3 5 5
X4 -300 100
[ R 0.15
g 2 ANOVA :
Sanes d.f. S.S. M.S. F
| Regression 5
s BIORLG . - 32 e | 500
Total 20 | 2000 3

a) Complete the ANOVA.

b) Conduct a global test of Hypothesis using o = 0.05 .
¢) Conduct a test of Hypothesis on each of the Regression Coefficient using o = 0.05 .
Could you delete any of the variable.

Second question: (5 marks)

1- Four brands of light bulbs are being for use in the final assembly area. The director of
purchesing asked for a sample of each manufacturer. The number of acceptable and
uracceptable bulbs from each manufacturer are shown below:

Fate ____ Manufacturer
e ST PR )
Unacceptable 53 97 88 62
Acceptable 27 23 22 28

At 0.05 significance level, is there a difference in the quality of the bulbs?



Category Fy

A 60

‘ B 40
\ € 20

following Hypothesis are given:
H, : 40 percent of the observation are in category A, 40 percent are in B, and 20
percent are in C.
H, : The observation are not as describe in Hy.

e took a sample of 120 observation, with the following results:

State the decision rule using the 0.05 significance level.

Third question: (5 marks)

a normal distribution:

1- The following sample data were obtained from three population that did not follow

Sample (1) 39 41 L 47 51
Sample (2) 48 49 49 52 56 57
Sample (3) 50 54 59 59 65
State the decision rule using 0.05 level of significance.
2- Let the following number of employee absence in days for each quarter
Quarter = o
2010 2011 2012
(1) 32 41 56
‘ ) 45 62 73
l 3) 63 81 94
| 4) 90 102 123

a) Determine seasonal index for each the four quarter (using moving average).

b)deseasonalize data for each quarter.

Good Luck




()

Ayl s
Faculty of Commerce, Spring Semester. 2016
Accounting Department, English Section. (2 pages) Time : 2 hours.

Management Accounting Final Exam , Spring Semester, 2016, 3™ Year Students.
(Answer the following questions & indicate the necessary calculatiuons)
Question 1: (4 marks)
(A)"Z" Firm currently sells hot dogs. During a typical month, the stand reports a profit of
$9,000 with sales of $50,000, fixed costs of $21,000, and variable costs of $0.64 per hot dog.

Next year, the company plans to start selling nachos for $3 per unit. Nachos will have a
variable cost of $0.72 and new equipment and personnel to produce nachos will increase
monthly fixed costs by $8,808. Initial sales of nachos should total 5,000 units. Most of the
nacho sales are anticipated to come from current hot dog purchasers, therefore, monthly sales
of hot dogs are expected to decline to $20,000.

After the first year of nacho sales, the company president believes that hot dog sales will
increase to $33,750 a month and nacho sales will increase to 7,500 units a month.

Required:
a. Determine the monthly breakeven sales in dollars before adding nachos.
b. Determine how much sales required to meet profit of $ 18,000.

Question 2: (6 marks)
(A)The following information pertains to Amigo Corporation for year 2016:

Month Sales Purchases
July $30,000 $10,000
August 34,000 12,000
September 38,000 14,000
October 42,000 16,000
November 48,000 18,000
December 60,000 20,000
e Cash is collected from customers in the following manner:
Month of sale (2% cash discount) 30%
Month following sale 50%
Two months following sale 15%
Amount uncollectible 5%

e 40% of purchases are paid for in cash in the month of purchase, and the
balance is paid the following month.

Required:
Prepare the cash collections budget for the 4th quarter of year 2016.

to be contued on the next page.
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(B) Picture Pretty manufactures picture frames. Sales for August, 2016, are expected to
be 10,000 units of various sizes. Historically, the average frame requires four feet of
framing, one square foot of glass, and two square feet of backing. Beginning

inventory includes 1,500 feet of framing, 500 square feet of glass, and 500 square feet
of backing. Current prices are $0.30 per foot of framing, $6.00 per square foot of
glass, and $2.25 per square foot of backing. Ending inventory should be 150% of
beginning inventory. Purchases are paid for in the month acquired.

Reguired:

a. Determine the quantity of the three products; framing, glass, and backing (the
production budget) for August, 2016.

b. Determine the total costs of direct materials purchases (materials budget) for
August, 2016.

Question 3: ( 5 marks)
(A)Briefly, what are the major differences between; financial and managerial
accounting. Also state the main functions of management accounting.

(B)Following the Egyptian Manufacturing Firm cost data related to product (Z) for
the first four month of year 2016:

Produced units Total costs ($)

January 3,400 1,750
February 3,000 1.650
March 2,700 1,560
April 3,950 1,935

Reguired:

Using the High-Low method and cost function, what is the total costs required to
produce 8,000 units of product (Z)?.
----------------------------------------------------------------------------------- end of the questions.

Good Luck //MJ_/ -

P




Menoufiya University  Gover tal and international Accounting  Date:20/6/2016

Faculty of Commerce 3™ year — final Term Exam Time: 2 H
Dept. of Accounting 2015/2016 Degree: 15
Answer the Following Questions:

Q1:

(A) On November 1, year 2014, Al dria pany sold merchandise to a foreign customer
for 100000 francs with payment to be received on April 30, year 2015. At the date of sale ,
Alexendria company entered into a six-month forward contract to sell 100000 francs. The
forward contract is properly designated as a cash flow hedge of a foreign currency

receivable. Relevant exchange rates for the franc are :

Date Spot rate | Forward rate (to April 30, year 2015)

November 1, year 2014 $0.23 $0.22

December 31, year 2014 0.20 0.18
April 30, year 2015 0.19

Alexandria company’s incremental borrowing rate is 12 percent. The percent
value factor for four months at an annual interest rate of 12 percent ( 1 percent
per month ) is 0.9610.

Required :

Prepare all journal entries, including December 31 adjusting entries, to record
the sale and forward contract. What is the impact on net income in year 2014?
What is the impact on net income in year 2015?

(B) On August 1, year 2015, Huntington corporation placed on order to purchase
merchandise from a foreign supplier at a price of 100000 dinars. The
merchandise is received and paid for on October 31, year 2015, and is fully
consumed by December 31, year 2015. On August 1, Huntington entered into a
forward contract to purchase 100000 dinars in three months at the agreed-on
forward rate. The forward contract is properly designated as a fair value hedge
of a foreign currency firm commitment. The fair value of the firm commitment is
measured through reference to changes in the forward rate. Relevant exchange
rates for the franc are :

R T e

Date Spot rate Forward rate (to October 31, year 2015)

August 1 $1.300 $1.310

September 30 1.305 1.325
| October 31 1.320

Huntington’s incremental borrowing rate is 12 percent. The present value factor
for one nonth at an annual interest rate of 12 percent ( 1 percent per month ) is
0.9901. Huntington corporation must close its books and prepare its third
quarter financial statements on September 30, year 2015.

Required:

Prepare journal entries for the forward contract and firm commitment. What is
the impact on net income in year 2015? What is the net cash outflow on the
purchase of merchandise from the foreign customer?

Q 2 : Columbia corporation, a U.S. based company, acquired a 100 percent interest in
Swobode company in Lodz, Poland, on January 1, year 2014, when the exchange rate for the
Polish zloty (PLN) was $0.25 . the financial statement of Swobode as December 31, year
2015, two years later, are as follows:




Income statement and
retained Earnings for
the year ending Dec.31,

2015

e b PLN
Sales 12500000
cost of goods sold (6000000)
Depreciation expense - equipment (1250000)
Depreciation expense - building (900000)
Research and development expense (600000)
Other expenses(including taxes) (500000)
net income 3250000
Plus : retained Earnings 1/1/2015 250000

_Less: dividends, 2015 (750000)
retained Earnings 31/12/2015 2750000

Balance sheet
- December 31, 2015

i PLN
Cash 1000000
A/R (net) 1650000
Inventory 4250000
equipment 12500000
less : accumulated depreciation (4250000)
building 36000000
less : accumulated depreciation (15150000)
land 3000000
Total assets 39000000 Se
Accounts payable 1250000
Long-term debt 25000000
Common stock 2500000
Additional paid- in cash 7500000
retained Earnings 2750000
Total liabilities and stockholders' equity 39000000

Additional information:

* The January 1, 2015 beginning inventory of PLN 3000000 was acquired on Dec., 15,
2014 when exchange rate was $ 0.215 . purchases of inventory during 2015 were
acquired uniformly throughout the year. The Dec. 31, 2015 ending inventory of PLN
4250000 was acquired evenly throughout the fourth quarter of 2015 when the

exchange rate was $ 0.16.

»  Allfixed assets were on the books when the subsidiary was acquired except for PLN
2500000 of equipment which was acquired on January 3, 2015 when the exchange
rate was $ 0.18 and PLN 6000000 in building which was acquired on August 5, 2015
when the exchange rate was $ 0.17 . equipment is depreciated on a straight-line basis
over 10 year. Building are depreciated on a stralght-line basis over 40 year . A full

year’s depreciation is taken in the year of acquisition.

* Dividends were declared and paid on Dec. 15, 2015 when the exchange rate was $

0.155
* Other exchange rate for 2015 are
January 1| $0.20
Average for the year 0.175
l=r Dec. 31 0.150




Required : Translate Swoboda’s financial statement into dollars using temporal method.

Q3: The Egyptian state buaget for the fiscal
_in million L.E.):

year 2016/2017 is shown as follow: (value

Item

Budget year
2016/2017

| Collection from payment of foreign loans
I Issuing of stocks
Sales of foreign financial assets
Local interest to general governmental units
Local loans
Services

Tad.

Gross funds i in gover al unit b

- P
5

Acquisition of non financial assets
Property income
Miscellaneous revenues
| Acquisition of local financial assets
| Compensation for employees
| Sales of local financial assets
! Subsidies ,
| Grants, and social benefits
General reserves for chapter two
Collection from payment of local loans
‘ Purchase of goods and services
’ Social benefits
| Collection from privatization process

| Gross wages included in governmental unit budgets
nit budgets chapter two)

l Gross funds include in governmental u
| Foreign external interest

f Other property expenditure — interest excluded

| Fines penalties and forfeits
| Current miscellaneous expenditure
Foreign loans

‘\ Grants from foreign government

Goods

Grants from international organizations
Local internal interest

' Payment of local loans

’ Acquisition of foreign financial assets

| Payment of foreign loans

| Tax

| Sales of goods and services

| General reserve ( for future use )

| Amount excluded to assign for non financial
| Voluntary transfers other than grants
Required: Calculate

é
\
[

| Grants from other general governmental units

assets

1-

Surplus/deficit for the state budget.

2- Total deficit
3- Net of borrowing and loans payment
4- Compute ratio of resources (GDP),

ratio of expenditure to( GDP ) and ratio of

cash Surplus/deficit to ( GDP ) if you learn that GDP amounted to L.E 80000




Q4:
“(A). On Oct. ,1, 2015 Ain shams uuiversity contracted to purchase an equipment

"from Egyptian company, the university paid the net value to the company.
".r’fl'he total value of the contract was L.E 6000000 and taxes was L.E 6000. On
‘:Dec., 30, 2015 the company has supplied the equipment

Require: preparc journal entries to record the transactions
(B)

“ » On1/4/2015 a permanent petty cash was established in the name of Mr. /
Ramadan for L.E 3500, by issuing a payment voucher by the value
amount on the public treasury of the governmental administrative unit,
and received a debit advice informing it that the amount of the payment
voucher was deducted.

* On 30/4/2015 Mr./ Ramadan has submitted an application to exchange
the amount of petty cash for net value of L.E 2600 from which L.E 128
was deducted for the interest of the tax authority, also at the same day it
was decided to increasc the value of permanent petty cash by L.E 1500
and the means of payment was a cheque.

* The petty cash was transferred from Mr./ Ramadan to Mr./ Gmal On
1/5/2015, the previous cheque was cancelled and transferred to Mr./
Gmal.

Required: Record the above transactions in the administration unit journal,

(C) The following is data and information concerning some revenues in a certain
governmental administrative unit during 1*' of September 2015:
* L.E 24000 rcvenues related to a governmental unit received by
acceptable cheques.
¢ L.E 750 as a periodical insurance from Naser Company that was-
collccted in cash, by a subsidiary treasury.
* L.E 530 that has wrongly been paid for Mr. / mohamed, then it was
collected by a postal draft.
* L.E 230 was collected by cheque as it has wrongly been paid to Naser
Company before.
Required: Record the above transactions in journal of the administration,

(D)The following transactions were made in the faculty of commerce- Helwan university
during April ,2015.
1- Purchase materials for L.E 3700 from public company and issued
cheque for the amount of L.E 3330 .
2~ Itdrew a payment voucher for the amount of L.E 1810 on the public
treasury of Caire governorate to private company for a maintenance
expense which amounted to L.E 2800.
Required: Journalize the above transactions in governmental unit books.
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